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Q1. Read carefully and choose the right answer of the following: (10 Marks)

1. steel (D) 2. the temperature remains the same (C)

3. radiation will provide quick warmth | 4. of sligh_ﬂ&_(ﬁf'f'&c;ﬁ'f—‘rqu‘lcnci'c- (B)

(B)
5. of same frequencies (B) 6. heat of fusion (A) \
| 7. energy transferred by a temperature | 8. 60 dB (E) 4Jl
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ing prolblems (22 = 14 + 8 pts)

A : iy
cay according to at = . Calculate the kinetic energy,

139.6 MeV/c?,my, ~ 0,m,+ = 105.7MeV/c”)

K, of the antimuon

SRR 2 £, (2]
K+ K, = 1896 MoV — 105.7MeV — 0 = 339 MeV [2]
ﬁm‘.‘f&«.: =0=p,= Py 21

, ecial relativity: P2c? = K + okcme’ [2] y
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stic approximation is given by:
ks M? 5/3

ky—= -

1= %

k adius of the white dewarf, respectively.
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ibrium radius of the star and k is a constant.
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